Cycle 4496.1: Multiplet Diffs

==0n Stats=: ==0ff Stats=:
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Cycle 4496.2: Multiplet Diffs

= ==0n Stats=: ==0ff Stats=:
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Cycle 4496.2: Multiplet Asyms
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Cycle 4496.2: Multiplet Sums
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Cycle 4496.3: Multiplet Diffs

==0n Stats=: ==0ff Stats=:
0.006 Mean: -0.0003 +/- 0.0007 Mean: -0.0008 +/- 0.0005
ChiZl/ NDF: 18.1101 /13 Chi2 / NDF: 30.5754 / 24
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Cycle 4496.3: Multiplet Asyms

-==0n Stats=:

8| Mean: -0.0023 +-0.0412

Chi2 / NDF: 14.7570/ 13
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Mean: 0.1722 +/- 0.1040
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Cycle 4496.3: Multiplet Sums
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Cycle 4496.4: Multiplet Diffs

on

Mean: -0.0010 +/- 0.0006

Chi2 / NDF: 13.8153 / 15|

Mean: -0.0000 +/- 0.0007

Chi2 / NDF: 16.3830 / 12
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Cycle 4496.4: Multiplet Sums

==0ff Stats==

Mﬂ: -0.7191 +/- 0. 0019' Mean: -0.6144 +/- 0.0021

Chi2 / NDF: 4307.6634 / 15 Chi2 / NDF: 1125.4980 / 12
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Cycle 4496.5: Multiplet Diffs

==0n Stats=;
Mean: 0.0010 +/- 0.0006

Chi2 / NDF: 16.7142 /15
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==Off Stats=:
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Cycle 4496.5: Multiplet Sums

Mean: -0.5766 +/- 0.0018

Chi2 / NDF: 1762.6352 / 15
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Cycle 4496.6: Multiplet Diffs

==0ff Stats=;

Mean: 0.0005 +/- 0.0008

Chi2 / NDF: 4.7764 /11
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Cycle 4496.6: Multiplet Asyms
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Cycle 4496.6: Multiplet Sums

Mean: -0.3839 +/- 0.0019

Chi2 / NDF: 1943.7875/ 15
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Cycle 4496.7: Multiplet Diffs

==0n Stats=: = ==0ff Stats=:
Mean: -0.0000 +/- 0.000¢ Mean: 0.0000 +/- 0.0009
Chi2 / NDF: 18.6307 / 1! Chi2 / NDF: 5.0471/8
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Cycle 4496.7: Multiplet Asyms
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Mean: 0.0321 +/- 0.0518
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Cycle 4496.7: Multiplet Sums

Mean: -0.3843 +/- 0.0018
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Cycle 4496.8: Multiplet Diffs
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Mean: 0.0002{+/- 0.0009

|ch|2 / NDF: 2.8679/8

==0ff Stats=;

Mean: 0.0000 +/- 0.0009
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Cycle 4496.8: Multiplet Asyms

Chi2 / NDF: 1 5205/8
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Cycle 4496.9: Multiplet Diffs

==0ff Stats=;

Mean: 0.0000 +/- 0.0008

Chi2 / NDF: 6.2826 /9
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Cycle 4496.9: Multiplet Sums
.Mean: -0.6095 +/- 0.0019 Mean: -0.4835 +/- 0.0024
-0.45
Chi2 / NDF: 1931.4019/ 15 -.— Chi2 / NDF: 474.3790/ 9
-05F - - N
o -&
- +, -
-0.55— .
- +t + 7
-06— -
L , v
o -+ 4 -+
-0.65 — -
07 .
. RS
C -4
075 o b by s
0 5 10 15 20 25



0.005

Cycle 4496.10: Multiplet Diffs

==0n Stats=;
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Cycle 4496.10: Multiplet Asyms

-==0n Stats=:

Mean: -0.1121 +/- 0.0518

Chi2 / NDF: 10.7732/ 12

==Off Stats=:
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Chi2 / NDF: 8.1401/ 6
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Cycle 4496.11: Multiplet Diffs

==0n Stats=: = ==0ff Stats=:
Mean: -0.0021 +/- 0.0012 Mean: -0.0003 +/- 0.0010
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Cycle 4496.12: Multiplet Diffs
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==0n Stats=;

Mean: -0.0006 +/- 0.0006

Chi2 / NDF: 16.7518 / 16
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Cycle 4496.13: Multiplet Diffs Cycle 4496.13: Multiplet Sums

==0ff Stats=:
0.006 Mean: -0.0001 +/- 0.0007 O wean: -0.1014 +1- 0.0019 -e - Mean: -0.2298 +/- 0.0023
Chi2 / NDF: 9.7871 /11 Chi2 / NDF: 2689.4804 / 15 -9- Chi2 / NDF: 2784.6313 / 11
-0.05 -
0.004 E , -
- * -0.1f= - = = L
0.002 E -
-0.15— ) &
o | E b
0 . 2 R 4 ol 02 - e - 2T
= = = ' | = F = = 3
-0.25— =
e - E
-0.002 - - " - 3
H -
—-0.004
—0.006
Co v v v by b by by by | T T N N T S TN NN T SR T T N S N S N
0 5 10 15 20 25 5 10 15 20 25

==0n Stats=: ==Off Stats=:
Mean: 0.0179 +/- 0.0153 Mean: -0.0007 +/- 0.0058
25 Chi2 / NDF: 24.3640 / 15 Chi2 / NDF: 9.7871 /11
20—
15— -$-
10—
5 —
0 (E=E=-=a-0= = ena e e el e T
- -9 _‘_ Bl
- 1
L. . . 00 b b b 1
0 5 10 15 20 25



Cycle 4496.14: Multiplet Diffs

On =: ==0ff Stats=:
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Cycle 4496.15: Multiplet Diffs
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Cycle 4496.16: Multiplet Diffs

==0n Stats=;

Mean: 0.0000 +/- 0.0007

Chi2 / NDF: 15.3325/ 12

==0ff Stats=;
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Cycle 4496.16: Multiplet Sums
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Cycle 4496.17: Multiplet Diffs

==0n Stats=: ==0ff Stats=:
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Cycle 4496.17: Multiplet Asyms
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Cycle 4496.18: Multiplet Diffs

n Stats=: ==0ff Stats=:
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Cycle 4496.18: Multiplet Asyms
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Cycle 4496.19: Multiplet Diffs

==0n Stats=: ==0ff Stats=:
0.005 I\:i: -§.0006 +/- 0.0006 l Mean: 0.0001 +/- 0.0008
| ? F: 21.5566 / 17 | _ Chi2 / NDF: 14.4636 / 9
2l +T1 1]
a -- -
o —— ks
B - |
C ] | <+ |4 l
L Y -
L | ---
-0.005— | T - |
-0.01—
0015k 1y 1 ' BT S RSN ES IE E
0 5 10 15 20 25
Cycle 4496.19: Multiplet Asyms
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Cycle 4496.19:

Multiplet Sums

Mean: -0.5142 +/- 0.0018
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Cycle 4496.20: Multiplet Diffs

==0ff Stats=;

==0n Stats=;

0.005 lean: -0.0006 +/- 0.0011 Mean: -0.0010 +/- 0.0007
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Cycle 4496.20: Multiplet Asyms
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Cycle 4496.21: Multiplet Diffs

==0n Stats=: ==0ff Stats=:
0.005 Mean: -0.0002 +/- 0.0006 | Mean: -0.0009 +/- 0.0007
i2 / NDF: 20.3069 / 1 Chi2 / NDF: 18.4814 / 12
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Cycle 4496.21: Multiplet Asyms
-==0n Stats=: ==Off Stats=:
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